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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2015 

ELECTIVE COURSE : COMMERCE 

ECO-8 : COMPANY LAW 

Time : 2 hours 	 Maximum Marks : 50 

(Weightage : 70%) 

Note : Answer any five questions. 

1. "A company has a separate legal entity from its 5+5 
shareholders". Critically examine this statement. 
Explain the principle of "lifting of the corporate 
veil". 

2. Define a memorandum of association. Name its 
clauses. Explain the objects clause in detail. 	2+2+6 

3. Explain the procedure for obtaining the certificate 10 
to commence business by a public company. 

4. (a) Under what circumstances a company can 5+5 
issue shares at a discount ? 

(b) For what purposes a company can use 
premium amount on shares ? 
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5. 	What is a statutory meeting ? When is it held ? 
What business can be transacted in such a 
meeting ? 	 2+2+6 

6. 	Distinguish between : 
	 5+5 

(a) Ordinary resolution and Special resolution 
(b) Equity shares and Preference shares 

7. 	(a) Explain the rules regarding number of 
	

4 
directors and directorship in a public and 
private company. 

(b) What are the circumstances when the office 	6 
of a director shall become vacant ? 

8. 	Enumerate the duties of a company secretary. 	10 

9. 	Write short notes on any two of the following : 5+5 
(a) Pre-incorporation contracts 
(b) Prospect-us 
(c) Compulsory winding up 
(d) Share warrant 
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